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1. Please find v, and i, in the circuit shown in Fig. 1. 15%

Fig. 1

2.  Please find the Thevenin and Norton equivalent circuits of the network of Fig. 2 at

terminals a-b. 10%
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Fig. 2
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3.  Please find the graph and any five trees of the circuit shown in Fig. 3, illustrate the links
associated with the five trees, and verify that the number of links in the graph is B - N +
1, where B is the number of branches and N is the number of nodes. 25%
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4. Please find the complete response v, t > 0, in the circuit of Fig. 4 if v{(0) = v(0) = 0 and
vg = 5c0s2000t V. 15%
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Fig. 4

5. Please find the forced response i in the circuit of Fig. 5 if the source voltage is given by
v=4V 0<t<ls
v=0V ,1s<t<4s
v(t+4) =v(t) .
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Please find the transfer function V,/Vy in the circuit of Fig. 6. 15%
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